Economics 11 – Make up mid-term
Fall 2004
Please answer questions all three questions.  As always, if you draw graphs, they must be completely labeled.  If you do calculations to arrive at an answer, your work must be shown.  Good Luck.

1. In the early 1900s, the cotton textile industry was characterized by many sellers, a homogeneous product, and free entry and exit.
a. Suppose under-production has raised prices, and all sellers are making money.  Illustrate the equilibrium for the market and for a single firm.  Label the profits.
b. Redraw your graph in part a) under the assumption that the producer is losing money, and is indifferent between opening and closing.

c. Starting with your answer in b), show the long-run adjustment for both the market and the firm.

2. The Neilsen Rating Service is the sole provider of television rating services in the United States.  Neilsen provides data on the popularity of shows to producers and advertisers.
a. Illustrate the equilibrium position of Neilsen – assume it is making economic profits, and label them.

i. Explain what a barrier to entry is.  What might Neilsen use to maintain its monopoly.

b. Suppose Neilsen charges producers of prime-time shows a higher fee than those who broadcast during the daytime.  Illustrate how this raises Neilsen’s profits.







NEXT->

3.
The following represents cost and output at the Consolidated Coffee Company (CCC):

Labor (hours)
Quantity   Fixed     Variable  Total Costs  AVC  ATC  MC  Profits




     Costs       Costs


       0

     0
     100





       1

     5



2 15

3 30

4 40

5 45

The only variable input is labor, which costs $10/hour.  The output of the firm is priced at $5 per unit.

Fill in the table, and find the profit-maximizing output.

